Two Machine System pu Model




Differential Equations: Network Transients
Neglected
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Simple Static Exciter + AVR Model
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Simple Turbine- Governor Model
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Mechanical Equations in per-unit
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Mechanical Equations in per-unit

w 1s the electrical angular speed 1n rad/s.

wp 1s the base electrical angular speed in
rad/s.

6 = wet + 0, is the rotor position.

In this study, let us take, w, = wp



Algebraic Equations (Both Machines)
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D-Q variables
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D-Q variables
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D-Q variables
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For Machine 2:
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Algebraic Equations (Both Machines): As-
sume x/; = 2y
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Algebraic Equations: Network + Load:
Transients Neglected
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Algebraic Equations: Network + Load:
Transients Neglected
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Differential Equations / States: 16
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Algebraic Equations / Variables: 14

YD1:YQ1, Y D2 VYQ2: D15 'Q15 t D25

1Q2: VD1, YQ1, VD2 YQ2: LD UQ



